Name

SUBTRACTION WORD PROBLEMS TO 150 SHEET 2UK

Date

WORKING OUT

1)

A B costs £136.
| have £95.
How much more money do | need? £

2)

There are 123 ' on the beach.
[

85 ' are washed away.
How many are left?

3)

Sally has 105 C:‘X‘ :

Newton has 89 <:>4 .
What is the difference?

4)

A shop has 140 =

-
118 &2 are sold.
How many are left?

5)

There are 106 I g 5 log.
47 AW o)) off.
How many AR e Jeft on the log?

6)

Captain has £119.
Newton has £75 less than the Captain.
How much does Newton have? £
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Name

SUBTRACTION WORD PROBLEMS TO 150 SHEET 2UK ANSWERS

Date

WORKING OUT

1)

A B costs £136.
| have £95.
How much more money do | need? £ 41

£136 - £95 =f41

2)

L
There are 123 *_ on the beach.
I

85 ' are washed away.
How many are left? 38

123 -85=38

3)

Sally has 105 C:'X( :

Newton has 89 <I>4 :
What is the difference? 16

105-89=16

4)

-5
A shop has 140 @”

A
118 &2 are sold.
How many are left? 22

140—-118 =22

5)

There are 106 A on a log.
47 Al roll off.

How many A0 are left on the log? 59

106 -47 =59

6)

Captain has £119.
Newton has £75 less than the Captain.
How much does Newton have? £ 44

£119-£75=£44
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